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ENGLISH VERSION

Instructions : (1) Answer all the questions on the basis of internal
option.
(2) Question Number - 01 should be must give
answers in the Answer book.
(3) Right side figure show the total marks of the
questions.

1 Choices appropriate option on the base of the internal 20
options :
(1) In which sector context, Prof. Alfred Marshall presented
the Law of Diminishing Return?
(A) Industrial sector
(B) Service sector
(C) Agricultural sector
(D) Mineral sector
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(2) Which is the scale of return when there is equal increase

in the units of inputs and production?

(A) The Law
(B) The Law

(C) The Law
(D) The Law
(3) Which scales
combination?
(A) The Law
(B) The Law
(C) The Law

(D) The Law

of Diminishing Return
of Increasing Return
of Instable Return

of Constant Return

of return indicates optimal factor of

of Diminishing Return
of Increasing Return
of Instable Return

of Constant Return

(4) The scale of Increasing Return means; "Advantages of

large scale Production" which Economist has given this

definition?

(A) K. E. Boulding
(B) Alfred Marshall
(C) Paul Semulson
(D) George Stigler

(5) Which is the type of combination of resources according

to the Assumption of diminishing law of returns?

(A) Flexible
B) Fix

(C) Inflexible

(D) Varnable

(6) What is the assumption about the factor of production

under The theory of marginal productivity?
(A) Available and mobility

(B) Non available and non mobility

(C) Available and variable

(D) Non available and fixed
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(7) What 1is total net production in any country?
(A) Interregional production
(B) National production
(C) Regional production
(D) Political production

(8) Which are known as direct satisfy of goods of persons ?
What is the terminology of demand in economics ?

(A) Derived demand
(B) Indirect demand
(C) Direct demand
(D) Complementary demand
(9) What are the impacts of total supply of labour ?
(A) Marginal production
(B) Marginal productivity
(C) Average production
(D) Average productivity

(10) Which type of distribution marginal productivity theory
according to Prof. Dunlop

(A) Bilateral
(B) One way type
(C) Fourth lateral quardregal
(D) Triangle
(11) Which rent is more than economic rent?
(A) Differential rent
(B) Contract rent
(C) Specialized rent
(D) Scarcity rent

(12) When total earning of unit of factor is rent, how is the
elasticity of supply of that factors?

(A) Perfectly inelastic Supply
(B) Elastic Supply

(C) Perfectly elastic Supply
(D) Inelastic Supply
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(13) What 1s called received surplus earning which is more
than transfer earning?
(A) Contract rent
(B) Economic rent
(C) Quasi rent
(D) No option is related with above.
(14) Who was the first to give the theory of rent?
(A) Sidney Web
(B) Dawid Ricardo
(C) Mrs. John Robinson
(D) Litrason
(15) What are the natural resources by owner's income?
(A) Gross rent
(B) Economic rent
(C) Contract rent
(D) Pure rent
(16) Which profit is achieved from accounting profit after
excluding Implicit cost?
(A) Economic Profit
(B) Non Economic Profit
(C) Non contract Profit
(D) Total Profit
(17) Which function gives the economic profit to the entrepreneur?
(A) Combination of factor of production
(B) Bearing risk and uncertainty
(C) Entering innovation in business
(D) Economic profit is received by doing all above given
functions
(18) Gross profit is net profit
(A) Less than
(B) Equal to
(C) More than
(D) None of above
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(19) Who explained the uncertainty theory is profit?

(A) Mrs. John Robinson
(B) Prof. Knight

(C) Prof. Machlap

(D) Prof. J. B. Clerk

(20) Who explained the innovation theory of profit?

(A) Prof. Holly

(B) Prof. Chamberlin
(C) Prof. Schumpeter
(D) None

2 Answer any one question :

ey

Discuss the advantages of expansions size of firm.

10

(2) Explain the marginal productivity theory of distribution.

3  Answer any one question :

ey
)

4 (a)

(b)

Explain the modern theory of rent.

Explain the dynamic theory of profit and criticize it.

Write a short note on : (any one)

(1) Usefulness of the law of diminishing return.

(2) Limitations of the marginal productivity theory
of distribution.

Write a short note on : (any one)

(1) Quasi rent.

(2) Risk theory of profit.

5 Answer in brief any two of the following :

ey
)
3)
4)

What is meaning of production function?
What is personal distribution of national income?
What is scarcity rent?

Why does more profit received in imperfect competition?

10

14
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